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Missing Decimal Multiplicand

Find the missing multiplicand.

240.4 x =

17.60.2 x =

491.4 x =

260.4 x =

51.20.8 x =

8.10.3 x =

92.42.2 x =

990.9 x =

32.51.3 x =

541.2 x =

97.51.3 x =

21.60.6 x =

51.21.6 x =

6.60.2 x =

9.80.1 x =

34.80.6 x =

320.4 x =

29.70.3 x =

42.51.7 x =

76.51.7 x =
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Answers

Find the missing multiplicand.

240.4 60x =

17.60.2 88x =

491.4 35x =

260.4 65x =

51.20.8 64x =

8.10.3 27x =

92.42.2 42x =

990.9 110x =

32.51.3 25x =

541.2 45x =

97.51.3 75x =

21.60.6 36x =

51.21.6 32x =

6.60.2 33x =

9.80.1 98x =

34.80.6 58x =

320.4 80x =

29.70.3 99x =

42.51.7 25x =

76.51.7 45x =


